IEAR im K
m‘?uz;’z"i%’“ # T K EE+40~7R=160 (] : £0.1)
AEN A E/45H / BE5HEETE
%,’:EE’—‘LQE(SO/GOHz) kVA 8.70/ 8.06
E—%— i —ZXe—5—
Hll7E 75 ¢ SSC
B 77 kKW 6.0
BIRAR>T i NEDEE
t—2—8 N kW 1.5
=77 MPa 0.52/0.72
RANME L/min 45 / 60
|E3{LHK O
TJ—X4—R>T | ¥E $E NEDEE
t—2—8E7] kKW 0.31
aha—-5— | BERIETEK PID Il
mERE A BB APt1 00X HEAl)
EXTERTRAN 2y FF—TURIVRIR
2L — 5% TE. &6 B 0~99|31F'Eﬁ (EXTERFEZON)
z KT AER - @ FHEIZ— BEHEHER
A& AR AHEIKA L/ O3 S) Rc3/8
ok B /53R 15 1 (3 5) Rc3/8 x 4
[E#ETT7— A Rc1/8
WESHIKE L/min 10.080
'Jég/ﬁflbkf 7 MPa 0.15~0.3
AHIKEE MPa 0.05LUF
WEEHEIT—IET MPa 0.4~0.69
E R AR 200/220V 50/60Hz 3¢
ER7 77 EIREEATSY)) HEEHEI3P 30A
AT i (WXDxH) mm 300 x 700 x 700
B = kg 113




